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The Computational Code of The Energy Level of

Asymmetric Rotors

Kaoru SAKAMOTO
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A(1) =0.100735D—2 (x10™*em’g)
A(2) =0.193200D—2 (X110 *em?)
A(3) =0.302675D—2 (10 *"em’g)
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1¢C PROGRAM SAKAMO
2C CALCULATION OF ENERGY LEVEL OF ASYMMETRIC ROTAR
3 COMMON AI, JMAX
4 NN=10
5 DIMENSION EIG(10), AIL(3), L(10, 10)
6 REAL#8 EIG, AT L
7 1000 READ(5, 100, END=2000) IP, JMAX, (AI(I), I=1,3)
8 100 FORMAT(2I2, 3D14.7)
9 JIMAX =2*xJMAX +1
10 WRITE(S, 400) JMAX, (AI(D), I=1, 3)
11 400 FORMAT(IH, 10X, ‘TMAX=’, 12, JIX=', D14, 7, 'RIY=', D14.7, 'R1Z=’, D14.7)
12 CALL EV(IP, EIG, L, NN)
13 DO 500 I=1, JIMAX
14 500 EIG(I)=6.94155D0*EIG(I)
15 WRITE(S, 600) (EIG(I), I=1, JIMAX)
16 600 FORMAT(IH , 20X, ’'ROTATIONARY FREQUANCY#1. 0D-3(MEV)’
17 1/1H , (20X, 5D15.7))
18 DO 700 I=1, JIMAX
19 700 EIG(I)=EIG(I)*8.065460D-3
20 WRITE(6, 800) (REIG(I), I=1, JIMAX)
21 800 FORMAT(1H , 20X, 'ROTATIONARY FREQUANCY (1.0/CM)’
22 1/1H , (20X, 5D15.7))
23 GO TO 1000
24 2000 STOP
25 END
26 SUBROUTINE MEIGNJ(A, S, N, NN)
27 DIMENSION A(NN, NN), S(NN, NN)
28 REAL#*8 A, S, ANORM, E, FNORM, CONSTF, COS, SIN, B, C, APP, AQQ

29 1,0, V, W, W1 ABSV
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2000

3000
1000

100

10

90
80

201

210
211

300
302

301
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E=1.0D-10

IN=0

CONSTF=N

DO 1000 J=1,N

DO 1000 I=1,N

IF(I-J) 2000, 3000, 2000
(1, 3)=0.0D0

GO TO 1000

S(1, J)=1.0D0

CONTINUE
ANORM=0.0D0

DO 10 J=1,N

DO 10 I=1,N

IF(J-I) 100, 10, 100
ANORM=ANORM + A(, J)#+2
CONTINUE

ANORM =DSQRT(ANORM)
FNORM=ANORM+E
ANORM — ANORM/CONSTF
DO 21 1IQ=2,N

M=1Q-1

DO 21 IP=1, M

IF(DABS(A(IP, 1Q))-ANORM)21, 201, 201

IN=1

U=2.0D0*A(IP, IQ)
V=A(IQ, IQ)-A(IP, IP)
W=V*V+UxU
W1=DSQRT(W)
ABSV=DABS(V)

C0S=DSQRT((1.0D0+ABSV/W1)/2.0D0)

SIN=U/(2.0D0%*COS*W1)
IF(V)210, 211, 211

SIN= —SIN

CONTINUE

DO 40 I=1,N

IF(1—-1IP)300, 301, 300
IF(1—1Q)302, 301, 302
B=A(I, IP)*COS-A(I, IQ)+SIN

A(L, IQ)=A(I, IP)*SIN+A(I, 1Q)*COS

A1, IP)=B
CONTINUE
C=8(1, IP)*COS —8(I, IQ)*SIN

8(1, 1Q) =87, IP)*SIN +8(I, 1Q)*COS

S(, IP)=C
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CONTINUE

APP=A(IP, IP)*COS#%2+ A (1Q, IQ)*SIN#*#2—2, 0DC*A (IP, IQ) *SIN*COS

AQQ=A(IP, IP)*SIN*%2+ A (1Q, IQ)*COS**2+ 2, 0DC*A (1P, IQ)*SIN*COS

A(IP, 1Q) = (A(IP, IP) — A(IQ, 1Q))*SIN*COS+ A (IP, IQ)*(COS#*2—
1SIN#**2)

A(IQ, IP) =A(IP, IQ)

A(IP, IP) =APP

A(IQ, 1Q)=AQQ

DO 70 I=1,N

AP, I1)=A(, IP)

A0Q ID=A(,1Q)

CONTINUE

IF(IN—1) 600, 601, 600

IN=0

GO TO 80

IF (ANORM-FNORN) 99, 99, 90

CONTINUE

RETURN
END

SUBROUTINE EV(IP, EIG, H, NN)

COMMON AI, JMAX

REAL#*8 Al V, EIG, H, ENERGI, ENERG2
DIMENSIDN AI(3), V(10, 10), EIG(NN), H(NN, NN)
JI1=JMAX#2+1

DO 50 J=1,JJ1

DO 50 1=1,JJ1

V1, d)=0.0D0

IF (JMAX) 9999, 60, 70

H(1,1)=1.0D0

GO TO 170

IF (JMAX. GE. 8) GO TO 300

GO TO (100, 200), JMAX

v(, 1) =ENERG1(1.0D0) —ENERG2(—1.0D0)
V(2, 2) =ENERG1(0.0D0)

V(8, 3)=ENERG1(1.0D0)+ ENERG2(—1.0D0)
DO 160 I=1,JJ1

DO 160 J=1,JJ1

IF(1—J) 110, 150, 110

H(, J)=0.0D0

GO TO 160

H(,J)=1.0D0

CONTINUE

DO 180 I=1,JJ1

EIG(D=V D)
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IF(IP.EQ. 1) GO TO 181

GO TO 9999

WRITE(S, 182)

FORMAT (IHO, 'ROTATION ENERGY MATRIX’)
DO 183 I=1,JJ1

WRITE(S6, 184)1, (V(1,J), J=1, JJ1)
FORMAT(1H , I5, 5D20.7)

GO TO 9999

v(1, 1)=ENERGI(2.0D0)

V(2, 2)=EENRHI1(1.0D0) —ENERG2(—1.0D0)
Vv (3, 3)=ENERG1(0.0D0)

V(4, 4)=ENERG1(1. 0D0) + ENERG2( —1. 0D0)
v(5,5)=V(1,1)

V(8, 5)=DSQRT(2.0D0)*ENERG2(0.0D0)
V(5,8)=V(3,5)

GO TO 340

V(JMAX, JMAX)=ENERG1(1. 0D0) —ENERG1(—1.0D0)
J1=JMAX+1

J2=JMAX+2

J3=JMAX+3

V(J1, J1)=ENERG1(0.0D0)

V(J1, J2)=ENERG1(1.0D0)+ ENERG2(—1.0D0)
V(J1, J3) =DSQRT(2.0D0)*ENERG2(0.0D0)
DO 310 I=2, JMAX

1I10=I—-1

II1=JMAX~I+2

II2=JMAX+I+1

V (110, 110) = ENERG1(DFLOAT(II1))

V(II2, 112) =ENERG1(DFLOAT(I))
CONTINUE

DO 320 1=3, JMAX

I14==JMAX—I+1

II5=1—2

I16=J1+1

II7=116—2

V(II5, I) = ENERG2(DFLOAT(114))

V{117, 116) = ENERG2(DFLOAT(115))
CONTINUE

DO 330 I=1,JJ1

DO 330 J=1,JJ1

VI, D=Vv{d,J)

IF(IP.EQ.1) GO TO 400

GO TO 500

WRITE(5, 410)

FORMAT(1H ,” ROTATION ENERGY MATRIX’)
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DO 420 I=1,JJ1

WRITE(S, 430)1, (V(1, J), J=1, JJ1)
FORMAT(1H , I5, (6D20, 7))

CALL MEIGNJ(V, H, JJ1, NN)

DO 510 I=1, JJ1

EIG(I)=V(L, I)

RETURN

END

DOUBLE PRECISION FUNCTION ENERG1(RK)

COMMON Al J

REAL#8 AI(8), RK

ENERG1=(1.0D0/4.0D0)*((1.0D0/AI(1) +1.0D0/AL(2))*
1(DFLOAT(J)*(DFLOAT(J) +1.0D0) —RK*RK) 4 2. 0DO*RK#RK/AI(3))
RETURN

END

DOUBLE PRECISION FUNCTION ENeRG2(RK)
COMMON AL J
REAL#8 AI(3), RK

ENERG2=1. 0D0/8. 0D0*((AT(1) —AI(2))/(AI(1)*AI(2)))

1%DSQRT((DFLOAT(J) —RK)*(DFLOAT(J) —RK —1. 0D0)*(DFLOAT(J) + RK +1. 0D0)

2#(DFLOAT(J) +RK +2.0D0))
RETURN
END



